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The 2nd step is done by finding the reference 

angle. 
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The sine and cosine are found by 

looking at the 30/60/90 triangle 

above. 

 

 

 

 

12. 
( )
( )

( )
( )

( )
( )

( )
csc 1/ sin cos

cot
sec 1/ cos sin

θ θ θ
θ

θ θ θ
= = =  

14. 

( )
( )

( ) ( )
( )

( )
cot cos / sin

cos
csc 1/ sin

θ θ θ
θ

θ θ
= =  

Note: this is only correct for nθ π≠ , 

why? 
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The sine is found by looking at the 

30/60/90 triangle above. 
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The cosine is found by looking at the 

30/60/90 triangle above. 
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